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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the 
relevant questions, by a panel of subject teachers.  This mark scheme includes any amendments 
made at the standardisation events which all associates participate in and is the scheme which was 
used by them in this examination.  The standardisation process ensures that the mark scheme covers 
the students’ responses to questions and that every associate understands and applies it in the same 
correct way.  As preparation for standardisation each associate analyses a number of students’ 
scripts: alternative answers not already covered by the mark scheme are discussed and legislated for.  
If, after the standardisation process, associates encounter unusual answers which have not been 
raised they are required to refer these to the Lead Assessment Writer. 
 
It must be stressed that a mark scheme is a working document, in many cases further developed and 
expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark 
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of 
assessment remain constant, details will change, depending on the content of a particular 
examination paper. 
 
Further copies of this Mark Scheme are available from aqa.org.uk 
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The assessment objectives will be allocated in the following way. 
 

  % of AS Marks 

AO1 Response to spoken language 22 35 

AO2 Response to written language 31 50 

AO3 Knowledge of grammar 16 25 

 TOTAL 69 110 

 

 The marks will be allocated in the following way 

 AO1 AO2 AO3 

Listening Section (includes transfer 
of meaning into English exercise) 

35   

Reading Section  
(includes cloze test) 

 30 10 

Writing Section  20 15 
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General Principles 
 
Section A: Listening and Reading 
 
• In multiple choice questions where students must choose one letter or number, they should 

automatically get no mark awarded if they give more than one.  If the rubric instructs them to 
write one letter or number in the box and they do so, but write a second letter or number 
outside the box too, then the answer in the box should be considered. 

 
• Where a student repeats the same error within a sub-question, no further penalty should be 

imposed in awarding the mark, and nfp (= no further penalty) should be written beside the error 
to indicate this. 

 
• English spellings are not accepted unless the word is spelt the same in both languages. 
 
• “Rubric” should be written in the margin if in the wrong language and give ‘0’ (unless numbers 

or place names are involved). 
 
• Ignore errors of accents for comprehension/communication marks. 
 
• tc = tout court 

 
• In Question 3 reject incorrect pronouns. Ignore errors of gender and number. Tense must be 

appropriate to the question. Accept 3rd person plural for 3rd person singular and vice versa. 
Accept elle for il and vice versa. Reject invalidating additions. 
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 Key idea Marks Notes 
1 (a) Dangerous/bad/problems for 

the ears/hearing (1) 
(Causes) accidents/do not hear cars 
(1) 2 

 
Refer to general principles if 
appropriate 
 
Knocked down/over by cars 
  

 
Qu. Key idea Marks Notes 
1 (b) They listen to music one hour per 

day (1) 
The music is too loud/at dangerous 
levels/volume (1) 

2 

Refer to general principles if 
appropriate  
Must be correct number of 
hours 
 

 
Qu. Key idea Marks Notes 
1 (c) Pause every 20 minutes 

The volume should not be more 
than 50%/half (of the maximum) 
Others should not be able to hear your 
music 
Do not use music to hide other noises 
 

4 

Refer to general principles if 
appropriate  
Must be correct number of 
minutes 
Must be correct percentage 
if used 

 
Qu. Key idea Marks Notes 
1 (d) Turn down the volume and see a 

doctor 
 

2 Refer to general principles if 
appropriate  
Reject turn the music off 
Reject take medication 
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Qu. Accept Marks 

2 (a) GK 2  

(any order) 

 

Qu. Accept Marks 

2 (b) EF 2  

(any order) 

 

Qu. Accept Marks 

2 (c) HM 2  

(any order) 

 

Qu. Accept Marks 

2 (d) AN 2  

(any order) 

 

Qu. Accept Marks 

2 (e) BC 2  

(any order) 
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Qu. Accept/key idea Marks Notes 

3 (a) Un remède contre le stress 

 

 

(Une manière de) garder la forme 

2 Refer to general principles 
if appropriate  

Must have recognisable 
verb form 

Reject contre le stress tc 

 

Qu. Accept/key idea Marks Notes 

3 (b)  

 

 

On fait/il y a des activités en plein air 

 

 

On passe ses nuits/la nuit sous/dans la 
tente/on fait du camping 

Chaque voyageur porte ses valises 

 

Les entraîneurs sont des anciens militaires 

(3 from 4) 

3 Refer to general principles 
if appropriate Must have 
recognisable verb form 

Must be correct spelling of 
en plein air but accept 
fem. form of adjective 

Reject sur la tente 

 

Accept son/sa as in 
general principles 
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Qu. Accept/key idea Marks Notes 

3 (c) Le luxe  

L’hébergement dans un château  

(Des) repas gastronomiques  

Un massage (tous les jours)   

(2 from 4) 

2   

Accept dormir/ la 
chambre etc  

L’hébergement must be 
spelt correctly if used 

 

 

 

Qu. Accept/key idea Marks Notes 

3 (d) (On ne peut pas) : 

  

 

manger de (la) viande 

boire d’alcool/de l’alcool 

consommer des produits laitiers 

utiliser son portable   

(3 from 4) 
 

3 Refer to general principles 
if appropriate  

Must have recognisable 
verb form 

The phrasing of the 
question must be reflected 
in the answer and so 
‘propose un régime 
végétarien’ would be 
rejected 
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Qu. Accept Marks 

4  B C G N O 
(in any 
order) 

5 

 

Qu. Accept Marks 

5 (a) S 1 

 

Qu. Accept Marks 

5 (b) B 1 

 

Qu. Accept Marks 

5 (c) N 1 

 

Qu. Accept Marks 

5 (d) A 1 

 

Qu. Accept Marks 

5 (e) B 1 

  

Qu. Accept Marks 

5 (f) N 1 
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Qu. Accept Marks 

5 (g) A 1 

 

Qu. Accept Marks 

5 (h) S 1 

 

Qu. Accept Marks 

6 (a) H 1 

 

Qu. Accept Marks 

6 (b) N 1 

 

Qu. Accept Marks 

6 (c) C 1 

 

Qu. Accept Marks 

6 (d) E 1 

 

Qu. Accept Marks 

6 (e) G 1 

 

Qu. Accept Marks 

6 (f) K 1 

 

Qu. Accept Marks 

6 (g) A 1 

 

Qu. Accept Marks 

6 (h) D 1 
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Qu. Accept Marks 

7 (a) E 1 

 

Qu. Accept Marks 

7 (b) A 1 

 

Qu. Accept Marks 

7 (c) C 1 

 

Qu. Accept Marks 

7 (d) D 1 

 

Qu. Accept Marks 

7 (e) K 1 

 

Qu. Accept Marks 

7 (f) G 1 

 

Qu. Accept Marks Notes 

8 (a) V 1 Accept T or tick  

 

Qu. Accept Marks Notes 

8 (b) F 1 Accept X 

 

Qu. Accept Marks Notes 

8(c)  V 1 Accept T or tick  
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Qu. Accept Marks Notes 

8 (d) V 1 Accept T or tick  

 

Qu. Accept Marks Notes 

8 (e) F 1 Accept X 

 

Qu. Accept Marks Notes 

8(f)  ND 1 Accept PM/? 

 

Qu. Accept Marks Notes 

8(g) F 1 Accept X 

 

Qu. Accept Marks Notes 

8 (h) ND 1 Accept PM/? 

 

Qu. Accept Marks Notes 

9 (a) né 1 (Spelling must be exact) 

Must have accent 

 

Qu. Accept Marks Notes 

9 (b)  suivre 1 (Spelling must be exact) 

 

Qu. Accept Marks Notes 

9 (c) débuté 1 (Spelling must be exact) 

Must have accents 
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Qu. Accept Marks Notes 

9 (d)  régulière 1 (Spelling must be exact) 

Must have accents 

 

Qu. Accept Marks Notes 

9 (e) connaît 1 (Spelling must be exact) 

Must have accent 

 

Qu. Accept Marks Notes 

9 (f)  obtenu 1 (Spelling must be exact) 

 

Qu. Accept Marks Notes 

9 (g) vieille 1 (Spelling must be exact) 

 

Qu. Accept Marks Notes 

9 (h)  amoureuse 1 (Spelling must be exact) 

 

Qu. Accept Marks Notes 

9 (i)  choisissant 1 (Spelling must be exact) 

 

Qu. Accept Marks Notes 

9 (j)  ait 1 (Spelling must be exact) 
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Section B: Writing (Annotation of Scripts) 
 
The following conventions will be used by examiners marking scripts when assessing Content: 
 

 Point made 

NR Irrelevant material 

rep Repeated point 

? Lack of clarity 

 
The  will be placed in the body of the text.  The 'NR', 'rep' and ‘?’ will be placed in the margin. 
 
Each question will be marked out of 35, consisting of 20 marks for Content (AO2) and 15 marks for 
Quality of Language (AO3). 
 
CONTENT: suggestions for further guidance 
 
Marks Criteria 

17-20 Very Good 
• Response to the task is fully relevant with a good depth of treatment 
• Well-organised structure in a logical sequence 
• Points made are well expressed and justified 

 
A full mark of 20 can be awarded for a performance which is as good as can 
reasonably be expected from an AS level candidate. The candidate answers 
the question fully and maintains a clear sense of direction, backing up a good 
number of points with detailed explanations and examples. The candidate 
expresses fine nuances of meaning and justifies her/his ideas convincingly. 
A mark of 17 or 18 is awarded for a performance which shows most, but not 
all, of the qualities described above. It is likely to be fully relevant, with 
generally good depth of treatment but with occasional weaknesses in the 
sequencing of ideas. There are likely to be some convincing explanations and 
examples, although opportunities may be missed to explore the full 
implications of points made. The candidate’s expression is generally clear, but 
there may be occasional lapses where, for example, the candidate makes a 
lexical error.  
 
Do not be afraid to give a top score if you feel that there is nothing more the 
student could have done to answer the question in more depth. 
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13-16 Good 
• Response to the task is mostly relevant with some depth of treatment 
• Structure is generally well ordered 
• Points made are mostly well expressed and justified 

 
A mark of 15 or 16 is awarded for a response which is relevant to the broad 
topic area but may not always be fully focused on the chosen title. There is 
some depth of treatment and most views are supported by appropriate 
explanations and examples. Occasionally a valid point may not be fully 
developed or expanded. The sequencing of ideas within paragraphs is likely to 
be good, but the response as a whole may be disjointed in places and the 
conclusion may not be fully convincing. The candidate’s expression is 
generally clear, but there may be occasional lapses due to lexical or 
grammatical errors. 
 
A mark of 13 or 14 is awarded for a response which is relevant to the topic but 
includes one or more paragraphs which are not clearly focused on the chosen 
title. There is some depth of treatment and some views are supported by 
appropriate explanations and examples, but a number of statements are left 
unsupported. The sequencing of ideas within paragraphs is likely to be good, 
but the response as a whole is likely to be disjointed and difficult to follow in 
places. The candidate’s expression is generally clear, but there are likely to be 
some lapses due to lexical or grammatical errors. 

9-12 Sufficient 
• Response to the task is generally relevant, but treatment is often 

superficial 
• Reasonable structure with occasional lapses 
• Points not always clearly expressed and justification is only just 

sufficient 
 

A mark of 11 or 12 is awarded for a response which is relevant to the broad 
topic area but not well focused on the chosen title. There are likely to be a few 
detailed explanations and examples, but the response is generally superficial. 
There is some attempt at structure, with limited paragraphing and some use of 
common linking words. Straightforward facts and ideas are conveyed 
successfully, but the communication of complex ideas may be impeded by 
lexical and/or grammatical errors. 
 
A mark of 9 or 10 is awarded for a response which is generally relevant to the 
broad topic area but is likely to include material which does not relate to the 
title. The response is largely superficial; it may be short and/or it may largely 
consist of a series of unsupported statements. There is some attempt at 
structure, but the paragraphing is likely to be unclear and the use of linking 
words may be limited. Most facts and ideas are conveyed reasonably 
successfully, but the communication of complex ideas is likely to be impeded 
by lexical and/or grammatical errors. There may be occasional repetition of 
points already made. 
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5-8 Limited 
• Limited response to the task with some relevant information conveyed 
• Limited evidence of structure 
• Points made sometimes difficult to understand and justification is weak 

 
A mark of 7 or 8 is awarded for a response which relates to the broad topic 
area but is not focused on the title and may include some irrelevant material. 
The response is superficial; it may be short and/or it may consist of a series of 
unsupported statements. There is little attempt at structure and limited use of 
linking words. Some facts and ideas are conveyed successfully, but the 
candidate rarely manages to convey complex ideas or explanations. Lexical 
and/or grammatical errors impede communication in places. There may be 
several occasions on which repetition of points occurs. 
 
A mark of 5 or 6 is awarded for a response which relates generally to the topic 
but is likely to include some irrelevant material. The response is superficial; it 
is likely to be short and/or consist of a series of unsupported statements. 
There is little attempt at structure. Some facts and ideas are conveyed 
successfully, but the candidate is unable to convey complex ideas or 
explanations. Lexical and/or grammatical errors impede communication 
significantly. There could be some significant repetition. 

1-4 Poor 
• Limited response to the task with little relevant information conveyed 
• No real structure 
• Points difficult to understand and little or no justification 

 
A mark of 3 or 4 is awarded for a response which is only partially relevant to 
the broad topic area and may include a significant amount of irrelevant 
material. The response is superficial and is likely to be short. There is no 
attempt at structure. A small number of simple facts and opinions are 
conveyed successfully. Lexical and/or grammatical errors impede 
communication significantly. 
 
A mark of 1 or 2 is awarded for a response which is barely relevant to the 
broad topic area. It is likely either to be very short or to include a significant 
amount of irrelevant material. A small number of simple facts and opinions are 
conveyed successfully, but these are presented in a random fashion. Lexical 
and/or grammatical errors impede communication significantly. 

0 The answer shows no relevance to the task set.   
A zero score will automatically result in a zero score for the answer as a 
whole. 

 
Where part of the required response is missing, eg in an advantage/disadvantage essay or where 
solutions are asked for but are not given, a penalty will be applied.  
 
(a) For example, in an advantage/disadvantage essay where only advantages or 
 disadvantages are expressed, only a maximum mark of 12 for Content is allowed. 
 
(b)  In an essay where solutions are asked for but are not given, only a maximum mark of 16 
 for Content is allowed. 
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(c)  In a three part question, for example: 
 
 “What are the consequences of smoking, why do people smoke and what can we do 
 about it?”, 
 
 any part of the response omitted would mean that the essay was assessed one band or 
 two bands lower than the rest of the Content would normally attract, ie  
 

• 16 marks would be the maximum awarded if one part of the response were missing and 
the Content would otherwise have been in the 17-20 band 

 
• 12 marks would be the maximum awarded if two parts of the response were missing and 

the Content would otherwise have been in the 17-20 band. 
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QUALITY OF LANGUAGE 
 
Range of Vocabulary 
 
Marks Criteria 

5 Wide range of appropriate vocabulary  
4 A range of appropriate vocabulary  
3 Some variety of appropriate vocabulary 
2 Limited variety of appropriate vocabulary 
1 Very little use of appropriate vocabulary 
0 No appropriate vocabulary 

 
Range of Structures 
 
Marks Criteria 

5 Very good variety of grammatical structures used  
4 Good variety of grammatical structures used  
3 Some variety of grammatical structures used 
2 Limited variety of grammatical structures used 
1 Shows little grasp of grammatical structures 
0 Shows no grasp of grammatical structures 

 
Accuracy 
 
Marks Criteria 

5 There may be inaccuracies, but these tend to occur in attempts at more complex 
structures 

4 Largely accurate but with a few basic errors 
3 Generally accurate but still with some basic errors 
2 Basic errors are frequent 
1 The number of errors makes comprehension difficult 
0 Errors are such that communication is seriously impaired 

 
It should be noted that the marks awarded for each of Range of Vocabulary, Range of Structures 
and Accuracy cannot be more than one band higher than the band awarded for Content. 
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Additional guidance for marking 
 
Introductions and conclusions 
 
Students are not expected to include an introduction or conclusion, but it enhances the structure if 
there is a brief introduction and a concluding short paragraph, possibly including a personal 
response. One of the criteria for inclusion in the higher bands for content is for a logical structure 
and this would enhance the overall structure of the essay. 
 
Awarding ticks and question marks 
 
Ticks should be used for any valid, comprehensible point. This could be a statement, a personal 
opinion, the development or explanation of a point already made, an example or illustration and a 
justification of a point of view. A question mark should be placed in the margin for points which are 
unclear or muddled eg where the student makes up a word or uses confusing target language. 
 
Repetition and irrelevance 
 
The symbol ‘rep’ should be placed in the margin where a student repeats a point already made. 
The symbol ‘NR’ should be used if a section is not relevant to the title eg a student talks about the 
consequences of smoking when the question asks for reasons for people smoking and for 
suggestions to reduce smoking. 
 
Choosing the band for Content 
 
A mark in the 17-20 band will be awarded for an essay which contains a good number of valid 
points which have been expanded, which has a good structure and contains little if any irrelevance, 
repetition or lack of clarity. A mark in the 13-16 band will be awarded for a good essay which 
makes a fair number of points but may contain some of the weaknesses identified above. A mark 
in the 9-12 satisfactory band would suggest that the student makes a few valid points but fails to 
develop some of these points and the structure may be erratic and a number of sentences may be 
unclear. Where a limited number of points is made with very little development and much confusing 
language, a mark in the 5-8 will be appropriate. Such essays will lack a coherent structure and 
could be very repetitive and superficial. Rarely, a mark in the 0-4 band will be awarded but this will 
be limited to very poor (usually short) essays where there is very little content and much that is 
irrelevant. 
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Possible content points 
 
Below is a list of possible content points for each answer; it should be stressed that the list is not 
prescriptive nor exhaustive, but is illustrative of the points which could be made. 
 
10  Pourquoi est-ce que beaucoup de jeunes préfèrent se confier à leurs amis quand ils 
 ont des difficultés ? A votre avis, est-ce que les amis sont plus importants que la 
 famille ? 
 

• Easier to confide in friends 
• Family more permanent than friends 
• Trust is important in a family  
• Friends same age and empathise more easily 
• Parents can be like friends 
• Understanding/trustworthy  
• Strict/lenient 
• Good listeners  
• Generous  
• Give advice and always be there 

(35 marks) 
 

11 Quels sont les dangers de boire trop d’alcool ? A votre avis, qu’est-ce qu’il faut faire 
 pour réduire la consommation d’alcool des jeunes ? 
 

• Liver damage/health dangers 
• Violence 
• Can become addictive 
• False way of escaping reality  
• The cost  
• Increases taxes 
• Ban advertising 
• Information campaigns  
• Lessons in school/education 
• Parental supervision 

(35 marks) 
12 Quels sont les inconvénients des téléphones portables ? A votre avis, pourquoi 
 est-ce que les jeunes continuent à les utiliser malgré ces inconvénients ? 
 

• Health risks 
• Cyberbullying  
• Lack of real communication 
• Expense 
• Crime risks 
• Useful in emergency 
• Rapid communication 
• Other uses eg camera 
• Multimedia uses eg Internet 
• Peer pressure 

(35 marks) 
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